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202 OfHl 21,000 21,000 0
01 =LHoIHl 21,000 21,000 0
ORNEY OHI(BS) 21,000,000 21,000
WS (Z R 5,653,500 500,000 5, 153,500
= 3,000,000
= 2,653,500
VESIEINE 5,653,500 500,000 5, 153,500
= 3,000,000
= 2,653,500
ZA0IY 84712 =Y 500,000 500,000 0
702 JI2TES 500,000 500,000 0
01 JI2FES 500,000 500,000 0
OEAJIY 84712 &5 500,000,000 500,000
UBHAIEIR| T 5,073,500 0 5,073,500
= 3,000,000
= 2,073,500
701 JIEtSIHEES 5,073,500 0 5,073,500
= 3,000,000
= 2,073,500
01 JIEtEHEES 5,073,500 0 5,073,500
OXYS OIXtAt S FE 73,500,0002 73,500
OS& M AlL2H &5 1,500,000, 0002 1,500,000




A M
M HRES(ZH)

el WEHHXE (el &)
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
< 1,000,000
i 500,000
OEXIUW XNEAIE SAH &&
3,500, 000,000& 3,500,000
< 2,000,000
i 1,500,000
=IE SE3A 80,000 0 80,000
701 JIERI AN ES 80,000 0 80,000
01 JIEtslAHNMESZ 80,000 0 80,000
OFxE SL3H 8&= 80,000,000 80,000




